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Question 1

A partial energy level diagram for a system

is as illustrated. The energies are in units of

10
−19 J.

E1 = 2.0

E2 = 4.0

E3 = 8.0

Which transition/jump results in emission of

light with the largest wavelength (based only

on the illustrated energy levels)?

1. 1 → 2

2. 2 → 1

3. 3 → 1

4. 1 → 3

5. 3 → 2

– Typeset by FoilTEX – 1



1 May 2019 Phys 112 Spring 2019

Question 2

A particle of mass m is contained in a box

of length L. The energy of the particle is

measured.

Which of the following is/are a possible

outcome of the energy measurement?

1.
h
2

8mL2

2. 2
h
2

8mL2

3. 4
h
2

8mL2

4. 6
h
2

8mL2

5. 10
h
2

8mL2
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